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Abstract

Multiplying m Sequences (M-m sequences, for short ) are built by beginning
with 1, and then replacing each digit with m times its value to get the next. For

example, the first five terms in M-2 sequence are 1,2,4,8,16, but the sixth term is

defined as 1x2=2,6x2=12, so we get 212. Below are the first terms in M-2
sequence: 1,2,4,8,16,212,424,848,16816" "

Basically, this study is divided into two sections, M-2 Sequence {an} and M-5

Sequence {bn } . First, we discuss the properties of M-2 Sequence and M-5 Sequence

a a, 4|,

an—4 | n—-5 |

Lst block 2nd block 3rd block

b, = 0 . Thus, we are able to see if a string of numbers belongs to M-2

Lst block  2nd block

by separating each term into several blocks. For instance, a, =

Sequence or M-5 Sequence.

Next, we signify their digits through Directed graph and Adjacency matrix. By
using matrix calculation, we prove the recurrence relation that satisfies the number of
digits of every term, and find their generating functions and characteristic equations.
Accordingly, we get the estimated functions of the sequences’digits for the purpose of
solving the original problem we saw in a mathematical article: How many times do
we need to multiply in order to make the digit greater than 1000?

In the end of the study, by adding the pattern of multiplying 2, multiplying 5, and
multiplying 10, we develop a connection between M-2 Sequence and M-5 Sequence.
We hope to study other M-m sequences and further develop a common property of M-

m sequences.
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(EE TR 2 - PORILESIETR R 1 B 2I0 R 2> BI04 SHIUHE 8 -
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W {a,) (EGHFH1,2,4,8,6 TL{EHF
SHHH AR 2 =2,2=4,2 =82 =16 » LKEHIIEZL FHFHIRIASEH 0 1,2,4, 8,
6 BT EERTE - HR 5 {q,) PEEHIR1,2,4,8, 6 TEEE -

T B {a,} P HH o, TR =B a, =

an—4 | an—S | an—4 |
TR Em S

,n26 o Ho e Z RN —EBHE - B ReZ I EAT U a, , - PEES

B ENIRTFiE a, o B4 ¢ a, = |848] |424] (848| > HF1848 =g, -
R B e

424 = a, - F—ERBFE ZEINE a, 2 TTEILGR B L2 B ETHRVZR — 8% {a, | -

a,=16 > a,®@=16®2=212=a, » {EHEESR/IHT 012 5 19A T HORER 4t
iR 1(a,) =21(a, ) +1(a, )n26 » FHER SRS -

T W a, @90k B51,2,4,8,16 » B FIE—{5EE - B

1 — n=1(mod5)

2 - n=2(mod5)
k,=14—>n=3(mod5) -
8 —> n=4(mod5)
16 > n=5(mod5)

R ZBHITETE n Ha,

B35 n = c(mod 5), Hothl < ¢ < 5 = TFAEESHd (§15 n—c =54 » AL 8E B k, -
AR’ —SFI RIS n i a, > SSETLEk, ERIRIH ©2 - B R R
HHI—TEAE @S FEWES R 02  BEIE-ERAE=ER - DU
e o BRI FELE TR Ry d X - il

ay=4—>a, ;= [848] > a, =a,.,., =[16816]848[16816] ©
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DER— P TTES12,4.8,6
BB BB EE > PLE v 2vave
GRS RE > LB 16
AER = I OBEE TEH



P S B A B ) — SR B R S — TR -
@m:é;w~~@ﬁ%uzmﬁm’@m%§@ﬁmﬁﬁlw

(=)~ B #(a,) VEE

IR T — 80 a, BUMEETR - o T BB ENE F AriRay R © sl
R FrisHIEFE G 1000 (% ? KReEisesk By i (a,) WIEE - &
Ser g [ 1 a2 R B IE BB A (R E D BATRERERE A - AT

(1) @ @ (8 6)
/@\‘ wfo 0 0 1 1
A , @1 0 0 0 1
= &+
b e @lo 1 0 0 0
®/0 01 0 0
° ° ©]0 0 0 1 0,
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Bo=lty ot b bu) %R (HbA LA (CREEIER) i,

BEE 0 T | B ER - 1, RS 0 TE 2 AYHIRIEE 0 1, 55 n T 4 HHIERE
B0 1,0 By n TE 8 AYHERES o 1, ¢ B8 n TE 6 (HFRERL » B4 : o, =848 >
B=[0 0 1 2 0] > t(a) =ty +t,+t, +t +t =1+42=3 -

52 P, = 4P,

sat] © HAAEEEFR AL > APRERERR A SRLL P, W13 P, = 4P,

00 0 1 1][t,] [ts+ts] [t

10 0 0 1{[t,]| [tu+he!| |t
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B=[1 0 0 0 0],R=[0 1 0 0 0],A=[0 0 1 0 O],
P,=[0 0 0 1 0],R=[1 0 0 0 1] ,R,=2P_,+P_, En=6M;
s ¢ FIFHEERERAA
(i) & n=6H% >
P=AP,=A(R+[0 0 0 0 1])
=P+[1 1 0 0 0]

=B+[1 0 0 0 0]+[0 1 0 0 o]
=P +P+P,=2P,+ P, fufApkIr
(i) #en=Fk (k=6 > B =2F_,+F_ anpir
Al n=k+1W§> P, = AP, = AQP,_, + B,_5) =2AP,_,+ AP_=2P,_,+ F,_, k1T

Gt (i) (i) > TIHL S HRE B2 6 1 » P =2P,_, + P fir

Ry TAEIEZEEE NP9t t(a,) ZMH > T HEHIRTEEE R 2R 2 B (A H A
FREBNHYIR > BRI A e 8y AT - A SRR ER PR B A et B VAR - (RIS A
HH R 2R AV R AR A B A 2 -

(1) ’HH {a, } ISR B IR (2

t(a)=1, t(a,) =1, t(ay) =1, t(a,) =1, t(a;)=2
t(a,)=2t(a, ,)+t(a, ), n=>6HF
(2) & n=5k ks> t(a,) RHEE > RS T

sa il 1 (1) T, K5 n THEAGH B B E S JBfd - i [ 2 &
P,, = 2Pn_4 + Pn_s &j > t(an) = 2l(an_4) +t(an_5) B‘J:HZ__\\I‘ °



t(a)=Lt(a,)=1Lt(a,)=1Lt(a,) =1t(a;))=2
[’ 1 2 3 4 5
@) it %’afﬁ{ A
2t(a, ,) FiBE > HERS 1(a,) Blt(a, ) WFEIETHE
NN Fyt(as) =2 RtEE > Frblt(ay,), Vk e N & R iE > HERE Ray# -

HUEER 2 M) PAT 2] - B T LUEHE | B0y T s S B A A
%X - EREFEHEFEAYERSA - HHESIN TRREE S - HEGE

(1) FRHFIL B 1(a,) BIEFREE 2(x) = T— x(if _xxz —

2) FE_BIIE (a,) FRFHEITER X -2x-1=0
FEEHEL 2 o FeffIeH R — B {a, | AT BRI EE 5 1,1,1,1,2,3,3,3,5,8....
HRE LRI o BEIRE 1(a,) =0 » AP {#(a,)} ={0,1,1,1,1,2,3,3,3,5,8...} °
SHEEE{1(a,)}, - RIKEK
g(x)=t(ay)+t(a)x+1(a,)x* +1(a,)x’ +---+1(a,)x" - = it(an)xk fBry{t(a,)}, 1
— Wy B B ordinary generating function) - -

5 (a)=Lt(a,)=1t(a,)=1ta,)=1ta,)=2
:7—*(8 r 1 2 3 4 5
= (1) A Egj{%ﬁ{ ta)=2t(a, )+Ha, ).n> 60

FEHE (a,) BV E g(0) B > FILAKE t(a,) =0
it a,) =20a, ) +1(a, ;) > BEERF g(x) 7 RIFE 23" fo—x" -

< g(x) =1(ay) +1(a)x+1(a,)x” +1(a;)x’ +1(a)x" +1(as)x’ - +1(a,)x" +--
“2x*g(x) = 2t(a,)x* —2t(a,)x* —2t(a,)x® ---—2t(a,)x"* +---

—xg(x) =—t(a))x’ —t(a,)x’ —t(a)x" - —t(a,)x"" —---
== 5
(1-2x"—x)g(x)=x+x" +x +x*

x+x +x +xt x(1+x)(1+x* x(1+x%)
i g(x) = T ( X 2 2 i > 3 4
1-2x"-x") (d+x)—-x+x"—-x"—-x" l-x+x"—-x —x




(2) HHATHE TSRS R (Fa Ba A & BOE A2 IR A8 B (=0 A
t(a,)=2t(a, ,)+t(a, ),n=6" A B " =2, " IEER S
BE P =2r+1 > Bl =2r=1=0 » Er B x -2x-1=01fE - Hit

X’ =2x-1=0 RER_EHII 8 1(a,) BRI GAAIRRUTER -

X =2x-1=(x+1)(x* =X’ +x* —x—1) = (x + D[ x(x = D(x* + 1) —1]=0

iR EOTIE A 5 (EARERVEEIR « x* —x° +x* —x—1= 0 YR FE HH4g (B EAS
Geogebra 3] » v HEEFIE KRB TRAY 77 ATIREE -
Smx)=x'—x +x"—x—-1 > Hfm(=1)=3, m(0)=m(1)=-1 -

RHEE A ESP R — B - SRk
n(x)=x*—x +x* —x=x(x-D(x*+1) >
Hfn(0)=n1)=0 - 555MNEA M EHHERE
R

EH LR m(x) 8 —EFR ~ AR > FA
FHEFRERE - FIFFEUTIE=RY 5 (R AL &-
1~ 1.29064...71-0.51879... 725 Wi {E L4
FRz,z °

RIEE > AR

(x+1)(x* =x*+ 5 —x—1)=(x+1)(x~1.29064---) (x —0.51879)(x — )(x — )

o t(“n)) = 1.20064... » BT BHIRI B R - BRI JIRET 2

t(an—l
1(a,)=a(-1)" +b(1.29)" +c(-0.51)" +d(z2)" +e(z)", a,b,c,d,e €R

By TIREREEE a.b,c.d e > Ki1(a),1(a,),1(ay),1(ay),tas) RAFERTLITHE
t(a) =—a+(1.29)b+(-0.519)c+d(z) +e(z) =1

t(a,) = a+1.6641b+0.269361c +d(2)’ +e(z)* =1

t(a;) = —a+2.1466b—0.139798359¢ + d(z)’ +e(z)’ =1

t(a,) = a+2.7692b+0.072555348¢ +d(z)* +e(z)* =1

t(a;) =—a+3.5723b—0.0376562c + d(z)’ +e(z)’ =2




N S R 8 BEDUEET TR > BEEHEELLL 1.29064 - H 320K
AR B IR AL Bt el

(1.29064)"

WOt (a,) =

I B S HE AR B R 1(a,) = — (1 29064)" » MRFFEL n LUK BRI EUE

(1.29064)"
«a,)

JEHIRIE > k EHUE NGRS AT VB E E AT 1.944 - H{5H

1.29064880134671 AYIHB PR AEMEA BE » WEEEFTPR ZHEBAE k> &R

t(a,)fRA > k= HIFH Excel HUETHEE) (Z2RME=) > w35 AEn

(1.29064)
1.944

LIEFHY 1.944 - [NIE > 1S2IEH 4 © SR B fEEHE (a,) =
Bt - ATAREE TSRO E R HE O BT R AT T 1 B
PRIy T BEIVEZEEREE 1000 (¥ ? , "W AT

J7iE
HTEEE 2 AR KA

LLGERE 2 = i lEﬁ,aﬁﬁgc{t(a) 1, t(a,) =1, t(a,) =1, t(a,) =1, t(ay) =2 LR

t(a,)=2t(a, ,)+t(a, ), n=O6HF
E—— AR © t(ay) =781, t(ay,) =1048 - FlsE —EHIHY5E 30 JEHE -
i 1000 7y -

ik
FHTEE 4 (LI HE R

(1.29064)"

DIEH 4 7 t(a,) = oad

Al

(1.29064880134671)"
1.944

ta, )= >1000

10



(1.29064880134671)" >1944

log1944 3.2886962605

1944 = = ~
log(1.29064880134671) 0.1108080823847774

n> log( 679

1.29064880134671)
HUEER n=30

PO > FMBESIRAT > stETTEBik T B B e HY T - EERE T
A HVIRERE R - SR AL EE - EREHEREGER - W2
56 30 IS - WG Baa ARY 1000 {ir % -

(1) ~ SRAES b, | HIMEH
SRTALEGI{b,} © 1,5,25,1025,501025,250501025,10250250501025.......

TREG (b} EEHIN,0,2,5 » BE—EF1,52 =@ —EE -
S Dl RS S (EH - S =1, 5' =5, =25 » H2x5=10 » A4l
PUES R o pit o RG] (b, } PEE LI 1,5,2,0 F{EYS - HR
T A T AR — BT @ 1,5,2 =858 > BI5 n B — (e

1 —> n=1(mod3)
5> n=2(mod3) -
2 - n=0(mod3)

REEHb, \I oS b, = b, 5 0 b, ,n>4(LBORR3E) > H

BB BoER
SR — R ReRZ H AT =30 > 55 @SR RaZ SHAT—IH o P EILLOE RS — RS

B M b= 5 01025 5 b =b ®5= 25 0 501025 -
3 %4@% f;@:@:b}ﬁ ¥ > %4@%‘ /ﬂl%glﬁ%

R b, R BT — (8 b, 51 4 TR b, R o B (EETER3M b,
B - AR ES ST B AR BB R a2 b, = 15, ) +1+1(b, )
24 ETE ORI -
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SRIEH G P n IEb,

{Ei% n = e(mod3) < fAAEEEE f (G n—e=3/ » AT ([H 4-1 AT S — (88

F o MACKRAETIHFRIE n JHD, » FoE—EHF R S —ERE S H

®5 » FHE &R - AR R - PR 0 &S - RS EEE—HAVE

—@PR > DUWEHEER IR - 85— (T hRETTER » IR T f

P il b =1-1®5®5=25—b,=10(25] — b, = [1025]0[250501025| -
-

b @505 b, b, ®5®5

(F1) ~ SRABI L &L (b,) VIR
TR ALY R (b, BIMEE > B s A R AL B E A
A R B DS REAE A > AT

TEF BT (b, ) (B R IR (42

| t(b)=1,1(b,) =1,t(b,) =2
) t(b)=t(b, )+1+t(b _,).n>4

, (b)) =1,t(b,) =1, t(by) =2
O b) = 15,) + 15,16, )un 26
(b)) =1,1(b,) = 1,1(b,) =2
O i,y =)+ cﬂ

k=0 |3

SEH (1) b, =25 0 b,®5=25®5=1025=b, » {1 0x5=0G{f
MET—IH b= 1 0 25 hpyfs—&l - WEtEET 1> g

FoE BEER
AR TARIBHEA B HAT =2 ¢ by oh 0 G HIRVEY T 25 > SR T
2R PRI FE R B 2% T AT —IH - FHILIEE A fesm A B e
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t(b,)=t(b, ) +1+t(b, ;) > FEPHY 1 RorEIRL 0 FrS VAR - NS

t(b) =Lt(b,) =1,t(b,) =2

T O
AR (%= {t(bn) =t(b, )+1+t(b, ;),n>4

S5 1 (2) BEAI(DRERIL > AR HES
t(b,) =t(b,_)+1+t(b_;)

t(b)=tb, ) +1+t(b,_;)+ [t(bH) —t(b, s )]

tb)=tb, )+ [1 +t(b, )+ t(bH)] —t(b, 5)

t(bk) = t(bk71) + t(bkfz) - t(bkfs) JEIEEBZI

sat] © (3) (BB—#0r) BoasR LB IAAH B FEEA mE ] L3 > 2
2x5=10 ~ 5x5=25pk Fy _(r% > FrlliE b, thag 2 F S B > Hib,,,
WS —(EA R - NEL#(b,,) =1(b,) MIEb, HY 2 Z HFR{EE -
AEb, 0y 5 = HYFRES - FEED 2 y(ERE 5 B EBE EEN - "=
t(b,.,) =t(b,)+ (b, THY 2 HIREHOHB, THY S HIREE) -

N RADERE T
TEH n 2 fI{H S By | 2+5 HfE
HEY (b} ML NEE EE S (b,)
1 1 0 0 0 1
2 5 0 1 1 1
3 25 1 1 2 2
4 1025 1 1 2 4
5 501025 1 2 3 6
6 250501025 2 3 5 9
7 | 10250250501025 3 4 7 14

FOEESR 2 H(EEEL 5 BBV Ry o (b,) > Hof
t(b,,)=t(b,)+1'(b,) » fice (1) "[HIl > jmie BEEFEH AR

£'(b)=0.0'(b) =1 (b)=2
£(b,)=1'(b, ) +1'(b, ). n=4

13



<%:%ﬁ>E?ﬁ%%e&ww=f0ﬁﬁﬁﬁw’%

t'(b)=t'(b, )+t (b, ;)KL -
HOIG S ST

(D'%n=3dreN)’%M§n—k2[§}’kﬂqﬁjdEFﬁ%%%g

=)= Ct =Cp+C +C 7+ O+ 4t CZI +C3 o [FE

k
k=0 |3 3 3

w

n—

n-3 i
'(b,)=).C' =C +C +C7° +C 7+ G +-+C) +C,

I w

3
k=0 bJ 2 22
2n+1
(ll) 'Eéf'n:3r+l (VEN) ’%tﬁin_kz E ’E 3 _ 2r+1 _,
2 2 2
n L+2 L_l
:>ﬂ(b,,)=ZC[kJ" S AT OO+ O e C O +C G AL
=0 |3 = &

n—3 n-1 n—4
1(b,)=).Ci =C +C + 7+ 0 +C T+ +C 2 +C 2

k=0 [EJ R

am'ﬁnzawa(reN)«%@arwz[g},kmﬁ%t@;wa%

2n—1
2n-1 3 2r+1
) = =r
3 = 2 { 2 }
n n+4 n+l
:>t'(bn)=Zc['kJ":cg+cg1+q“+q“+c;‘*+---+cng1 +C3 [
k=0 |3 R

n+l n-2

n—3 n+l
o (b, )=).C i =G+ G+ O+ G 4+ C 3+ C

k=0 {EJ 33
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MER(b,) BVIERALEARE - EEREE -
FELHTEFER() En=3r(reN) :
B —1=3r—1=3(r=1)+2 » {#i{2:

n—1 aTo i
1b,)=), cm‘-" =C OO O O e C 3 c

k=0 3 3

2

S A

n n n-3
t'(b, )+t'(b, )=C/ ' +C;2+(C)7 +C ) +(CH+C )+ +(C2 +C? )+C,}
3773 K
Lo "3
=C"+C7+(CPP+C+ O+ C )+ C 2,
3! K
nyoooon
=C)+C7 +CP+C G -+ C +C=1(b,)
D)
HES _MEEPQEn=3r+l(reN) :
nl m2 ool
(b)) =) C T =C+C 2 +C7 +C T + G 44+ C 3, +C 2 o
k=0 M a3 3
B =R
n—1 n—1 n—4
£(b, ) +1(b, ) =C +C 7 +(Cy7 + ) +(C T+ +(CI7 + G+ +(C2 +C,2 )+
3 3 3

n-1 n-1

1 2 2 3 4 5 1
=C, +C+(C+C+CTT -+ C 3 )+C G

3 3
n+2 n—1
__ n-1 n-2 n-3 n—4 3 3
=G+ +GT G+ G+ C G +C R =1(b,)
3

3

&R ES MEFPEG) En=3r+2reN) :

n-l ntl 2
()= L O =G Gl G G G4 O 4
k=0 |2 33

AR

n+l n+l n-2

+
3
5

£(b, ) +1'(0,,)=Cy + G (G + O (G + G (T + G 4+ (C +C ) +(CE +C3)

3 3 3
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n+1 2
_ -1 n—2 n-2 n-3 n—4 3 3
=G +CG (T HGT G T+ +C P )

3 3

n+4 n+l
_ n-1 n-2 n-3 n—4 3 3
=C,+C; +C""+(C" +C) +---+CL+171 +CL+171 =t'(b,)
3 3

NELFAT - 5 1'(b,) = ZCV JlE'(b,)=1'(b,) +1'(b, ;) HRHKIL °

AHIB,) =3O

=it

B £(b,.) = 1(b,) + Y C"F -

= 13)
En=Tk+1, Th+2, Th+6 (ke N)# > 1(b,) Ba8 > HLERES BB -
SEH  SRAEFIN{b, | I EL (b, HIRTETE S 1, 1, 2, 4, 6,9, 14, 21... ¢
IGE (b)) =1 (FH) > (b)) =1 (FH) «(b)=2 (EH)

1(b)+1(b)+1=1+2+1=4=1(b,) (FrE+ BE+1={HE)
1(b)+1(b)+1=1+4+1=6=1(b;) (FE+ BE+1={EE)
t(by)+1(b) +1=2+6+1=9=1(b;) (HEH+ HE+]1=7E)

t(b,) +1(b) +1=4+9+1=14=1(b)) ({HE+ EE+1=1HE)
t(b)+1(b,)+1=6+14+1=21=1(h,) =t(b,,) (HBE+ZTFE+1=378)
t(b)+t(b)+1=9+21+1=31=1(b) =t(b,,,) (BHE+ZFTFE+1=378)
t(b,)+t(b)+1=14+31+1=46=1(b,)) =t(b,,,) (EE+ FFE +1=1HE)

1(by) +1(b) +1=21+46+1=68=1(b,) =1(b,,;) (EE+ zf%ﬁlﬂ—%ﬁi)(%ﬂﬂﬂlﬁl 4)
- DUMCHEHE - R AES (b,) 8L 0(b,) AR BT > AIAGE
n=Tk+1, Tk+2, Tk+6 (ke NI > 1(b,) Far i > HERE R H% -

(1) FEFBIULE1G,) KL ) = ——

—x+xr=2x+1

(2) FEBGHIE(D,) MR FREUTREA Y - —x +1=0
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TEEH 6 T > BAFSHETRAES {b, | (i EFTRER VS Fy
1, 1,2, 4,609, 14, 21... » F[EAERRETT  BHIFE (b)) =0 - HIJEZAEL
{to)}={0, 1,1, 2, 4, 6,9, 14, 21...} - $FEEHI{1(b,)}, > AlekEL

h(x) = t(by) + t(b,)x + (b)) x> + t(b)xX* +++-+ (b, )x" - = it(bn)xk B {1(b,)}, HI—

A B ek (ordinary generating function)

sed] * (1) FEHEE 6 > SRABIIALE «(b,) WVIRA R (Ui je

t(b)=11(b,) =1,t(b,) =2
t(b)=t(b, )+t(b, ) +1,n>4

TEE 8 1(b,) HVAER B h(x) B FHIIAKRE 1(b)) =0
(b)) =tb, )+, ;) +1
~tb)-tb, )—(b,;)-1=0
HERE h(x) 533 b —x F—x

2 h(x) = t(hy) +t(b)x +1(b,) x> +1(b)x ++++1(B,)x" ++--
—xh(x)= = t(by)x—t(b)x* —t(b)x> —t(by)x* +- -+ 1(b, X"+

—x’h(x) = —t(b)x’ —...—t(b, )x" +...
BEEI S AN » 13 (1= x— 2 )h(x) = x4+ 4 4o 4o

%[}\ —Lz—l—x—xz_x3_..._x"_...
1-x
(1= x— 2 Yh(x) = =1
1—x
_1-(1-0)-2*(1-x)
- I—x

:(1—x—x3)h(x):(i—l—x2)

1-(1-x0)-x"1-x) x-x+x  x(1-x+x")

1-x 1-x 1-x

x(1-x+x7%)

hlx) = (l—x)(l—x—x3)

3 2
X =X +Xx

h(x) =

xt =X+ x?=2x+1

17



satd *(2) NERE 6 Q)R AR e - NIEEHIFERE 6 Q)HCKRHEUTE
2\ o MRATH AT AV IR AR A UE H 6 (2) 15

() =1,1(b,) =1,1(b,) =2
1(b,) =t(b, ) +1(b, )~ (b, s),n=6
K’ t(b,) =t(b, ) +1(b,_,)—t(b, ) HEHEIE s" =s"" +5"7 —s" » W&

FEPls™ s BEls =5 +s° =1 B’ —s' —s*+1=0 > 53R s &
X =x' = +1=00R > HILE > HEEOTEREAE Y -2 - +1=0

(x+1)(x—1)(x3 -x*=1)=0
HHP=ZRHEN 2 —x* +1=0 EFAXEHM - ButfsEoiEA
29+837 +i/29—\/@ L

54 54

35

5 & [FIHVRHAEIR £1, i/

4|29 ++/837 29-4837 , 1 [29++/837 , .[29-+4/837 1
o+3 a)+§,3—a) +———o

+— o H
54 54 54 54 3 i

t(b +1)
t(b,)

=1.4665571 = » BRI I B RR -

\/29+\/837 \/29 837
54

54

\/29+\/837 +i/29—\/837 s
54

ABE A KA 1(b,) = a(l)" +b(=1)" +c( ”

3

» i/29 +5\4/837 - i/29 —5\4/837 S % Vel i/29 +5\4/837 P i/29 —5\4/837 o)

, a,b,c,d,ecR -
By TIREREERE a,b,c,d,e » K t(b),t(b,),t(b,),1(b,),t(b) AL ITHZZ

(B =abscl \/29+\/83 \/29 VBT 1 \/29+\/837 J29 37 L \/29+\/837 ) i/29 7
w3 54 w P TR
)= atbiel \/29+\/83 J29 VBT 1, \/29+\/83 J29 VBT 2 Lo \/29+\/837 : 3\/29 w7 )2 |
54 54 3 54

t(b)=a-b+ (ng

t(b)=a+b+ (i/

29+
e Jz9+

29- 837 WL J29 837 J29 37 \/29+Jﬁ ) J29 N

R
837 J29 «/5 Ly J29+J€§_ 29-\837 Ly \/29+J@ ) J29 w37
JE J 29+

3
P
29@1 Jﬁ\/w@zl \/29+M2J29J§
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B “HEIM L B EOTREA % > By SRR HEARERIE

20++/837  [29-+/837 1
ﬁ’%%&uﬁﬁ%ﬁé’ﬁﬂﬁﬁi/ +54 +§/ 54 +§51-4655712€tﬁ%£

S BT e EL -

(1.465571)"

TR B =

I B EHE R R G K 1(b,) = %(1.465571)" » WHFIESRL n DU BT 3
(1.465571)"
1(b,)

EEUE NBCRE S (Y EE G S EAE 1.12 - G 1.47 BYIREOTFR PAERERL
BlE > e PR Z HEE m - FRFR 112 - NIE - SEERABS (S

Htb)RA > k= M Excel BUETEEHE) > AISEERAE n JESKHS > &

(1.465571)"

At G,)= 0.972072

(%) ~ T BFI BTG B
(1) T8 {a,) P —TE a, ETFAH] LT —HANS - F—fr¥ts

EHEEZ R0 > IRE (a, ®5)®2=a, ®10 > Hn>3%GHTHE
i -

(a, ®5)®2 = (848 ®5) ®2 = 402040 ®2 = 804080 = a, ®10

(a, ®2)®5=(848®2)®5=16816®5 = 53040530 # a, ®10

(2) T’ {a, )} B TE a, (96— ROBATTEENN 0 » FEYHE—Rrik
SLEFRIAS 0 R4 Rrf > JERRDAT » BIErE e T8 > st
SACR I > SR a, ®1OX$ —a,®2=a,, » TEREEE 10 ()

HINRAL » MR — B IR SR AR - NIEESHERRAXK
AR - filgn

ag ®10x$:(848®10)xé=804080xé=424
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sat] © (1) EAE(EHE T ©5 L @2 HyEik - 41K

Fif a, PRI 2L ®s5 F®2
1 5 1,0
2 1,0 2,0
4 2,0 4,0
8 4,0 8,0
0 3,0 6,0

110,220, 40, 8 >80, 6 > 60 » HFKFE _#H|H{EerH3H1,2,4,8,6
FEEE > RILEE 10 ()T EEREEF (3,5,7,9--) B8 H LARE -

S (2) BEEREE ®10 xém@zﬁ; T

g a, PHVEE e |1
®5

1 10 2

2 20 1

1 40 8

8 80 16

6 60 12

152,254,458, 816, 6 >12 > AIHEFER_HFINVFFIE - Ka, 5[ HE
a,,, ° R_EGITEE—HOAGIERE: > 2R Z AR (RIFF& IR
EA—ERFZET T —IH) > N R HAE AT S R -

(1) TERIFIETR A ERFARNE » 50 R 04T
A0 > JREN (b, ®2)®5=5b ®10 > H n>2188 5 HafH -
FlA (b, ®2)®5=(1025®2)®5=(20410)®5 =1002050 =1025®10 =, ®10
(b, ®5)®2=(1025®5)®2 = (501025)®2 =10020410 b, ®10

(2) FILEF b, | FHI—IH b, G BUREE N 0 » PRI — (8L
EAELFBA T HY O W5 —4H A B =fr s KR > Alg i/t T~ —
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- 1 .
H o g GRIARAL > TR S, ®10x—=b,®5=b,, " A B R

1T (WREHIREL » HIN R R ALY A S Ryar B A 07 2 #Pk > INIEH
DI A SRR - Bl

b, ®10><L = (1025®10)><L :1002050><L =501025
®2 ®2 ®2

e 1 (1) BB (ERET @2 X 5 HHHA » 41 -

JFaab, PHYEF K ®2 L ®S
1 2 1,0

0 0 0

2 4 2,0

5 1,0 50

FLALL 2 s B AL 8B 10 HYEL BT S AR (2 1,2,3,4,5) > AR [EERE
9 [EREREIR B FSHE TSR > M AREE S —ERTLEY T
Ay—3H

%%r@)@@@%ﬁ?®myé%m%@,mr%:

e, PEEE a0 [ 1
®2

1 10 5

0 0 0

2 20 10

5 50 25

155,00, 210, 525 » A[HEFBRAESINVARE - 7 b, 51HESD,,
RLBI PRV E—HLGE R > AT Z AR (BIFFSHEREE A —
TERRIBIN T —IH) » R HAE T T S R -
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(—) ~ BFFEsEER
1. SRBH R LB R & e 73

a, a,=\a,,| |a,s||a, 4|, n=6
FlmE B T F = BE
bn
b =1b,101\b ,|.,n=4
FE FE

e R

2. ¥R B R LB ML B E SR ERAINT ST IR - IR IEEATT

Fe B H i1 1(a,) FeHEHIE (b))

wlrfo oo 1 1]

1 0 0 0 1 00 10
o 01 0 0 O b 100
. 0O 01 0 O 0 100
fek 0 011

000 1 0, i
?[El: {t(al)zlr t(az)zla t(a3):19 t(a4):15 t(a5)=2
\ . t(b1)=1,t(b2)=l,l‘(b3)=2 s
;@% ) =20, )+, 5), n=6 {t(bn) ib, Y141, Yz a
5
{/éﬁ t(b)=1t0b,)=1tb,)=2
A [(bn):t(bn—l)+t(bn—2)_t(bn—5)9n26
t(b) =1,t(b,) =L,t(b,) =2
% 4, = r(bn)+icﬂ

I | BTE - TR T 8 B8 FAE 0 | SR S B8 e B8
& | 3B TE -~ B BTIE—ER
(EN
& x(x* +1) X —x>+x
BZ g(X)_l—X-i-XZ x3 X4 h(x)=x4—x3+x2—2x+l
[%I
4
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x> =2x—-1=0 X —x'=x+1=0

‘) (1.29064880134671)" ) (1.465571)"
a )= A S
" 1.944 " 0972072

3.

_ ~

R BB ESRTLE | 2 Bl -
(a,®5)®2=a,®10 * (b,®2)®5=h,®10

(@ ®10)x———a ®2=a_, ~ (b,®10)x——=h ®5=h,, -
®5 ®2

—‘)‘-: E7AN

m) G

. SRR ¢ BB o s P AR REAE S I A BRI BRI AT > A A SRR o

BT TRRRMEIEEER R o SRR o JERER R AT RAERE
I EAHNEEZ pE > S AIREr 70 A R PR A PR B RE ol BB IR AL #
PR AR - H AR A B M BIE R (AR e B E i SR R S
HATTRY > 5 Re 2 1 PR LB A B AP R R e - ] (e B —2%: - =
W& EREEIREHHNE I AES -

(r 8 fsEtE « LRI T S RO CRERIR - B8 7 =205 e=0KEE
st EAHINEER: - R B L HECE T — (@R R - 2R R G R
o B T B e A AR R ARAY R -

R BB LB Z R ¢ WTFE PRSI Ry 2% 5 =10 V&L > $RELT 2k m

BT SIS FLIS I (ToT 3 - R T B - E R0
S L S A SRR » 3 DB IERR (s S A R
Bl TR ARG H A e -

e B R BB | SRR — 8 e A R Y BeR LR
1 BT B SR BB INIIEA LREA e EIRER - WHE—2%: - 2 H
AMAESS IR o7 -
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(7))~
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VAR

Ju

T~ 25U
FERREU-AET N EREES T 2Ry 12231 =5
B -

FFTEQOLD > 2 BEARHEY ~ 3 BRAGA LT BTRE BRIk

SRZE > MREEREARERIE RS (2B B - NEL T - K82

I o

HIFERR(2012) - SRR JERIEMRE YO - B2 ERE 32531 -
AR (2016) > ARMIACERVEESEE - —ERM - RUEEHTE 55 % 43 0 59
B o 494k : http://www.ntsec.gov.tw/User/Article.aspx?a=3137 °

SRAEE ~ GITEQ2012) - — BRI B TER] > SR ERE 3253 H -
BUEEEQ014) - FFERE T ARG =P Es > B2 R8s 10 -
Herbert S. Wilf. Generatingfunctionology. (September 1, 1989), from

https://www.math.upenn.edu/~wilf/gfologyLinked2.pdf

» Neil James Alexander Sloane. The On-Line Encyclopedia of Integer

Sequences. (fHHA) , from http://www.research.att.com/~njas/sequences/
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it e 851 python F2=(H5

n=int(input())

k=[1]
J=0
for 1 in range(n):
for K in k:
print(K,end="")
print()
J=0
while j<len(k):
if k[j]==6:
k[j]=1
k.insert(j+1,2)
=1
elif k[j]==8:
k[j]=1
k.insert(j+1,6)
=1
else:
k[j]*=2

FEFEF python FEF T
n=int(input())
k=[1]
j=0
for 1 in range(n):
for K in k:
print(K,end="")
print()
j=0
while j<len(k):
if k[j]==2:
k[j]=1
k.insert(j+1,0)
j+=1
elif k[j]==5:
k[j]=2
k.insert(j+1,5)
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=1

else:
K[j]*=5
W S] Te  ETIFTR k(& = ““2_9)
SE 1 ff it | v ff ki | sEsn fi‘ "
1 1 1.290649 51 226249 | 1.979819 101 | 7.99E+10 | 1.946493
2 1 1.665774 52 300969 | 1.920872 102 | 1.03E+11 | 1.946773
3 1 2.14993 53 390685 1.90986 103 | 1.33E+11 | 1.943178
4 1 2.774804 54 491365 | 1.959892 104 | 1.72E+11 | 1.942294
5 2 1.790649 55 627898 1.9795 105 | 2.22E+11 | 1.945357
6 3 1.540732 56 828187 « 1.936976 106 | 2.86E+11 | 1.946695
7 3 1.988545 57 1 1082339 | 1.912923 107 | 3.7E+11 | 1.944181
8 3 2.566513 58 | 1373415 1.94566 108 | 4.77E+11 | 1.942541
9 5 1.98748 59 | 1747161 | 1.973985 109 | 6.16E+11 | 1.944501
10 8 1.603212 60 | 2284272 | 1.948665 110 | 7.94E+11 | 1.946321
11 9 1.839274 61 | 2992865 @ 1.919579 111 | 1.O3E+12 | 1.944882
12 9 2.373857 62 | 3829169 | 1.936407 112 | 1.32E+12 | 1.942998
13 13 2.121103 63 | 4867737 | 1.965994 113 | 1.71E+12 | 1.943953
14 21 1.694704 64 | 6315705 @ 1.955669 114 | 2.2E+12 | 1.945813
15 26 1.766639 65 | 8270002 | 1.927613 115 | 2.84E+12 | 1.945284
16 27 2.195662 66 | 10651203 | 1.931678 116 | 3.67E+12 | 1.943524
17 35 2.186097 67 | 13564643 1.957641 117 | 4774E+12 | 1.943687
18 55 1.795489 68 | 17499147 @ 1.958541 118 | 6.11E+12 | 1.945293
19 73 1.745946 69 | 22855709 | 1.935365 119 | 7.89E+12 | 1.945432
20 80 2.05623 70 | 29572408 | 1.930541 120 | 1.02E+13 | 1.944015
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21 97 2.188759 71| 37780489 | 1.950322 121 | 1.32E+13 | 1.9430641
22 145 1.889774 72 | 48562937 | 1.95829 122 | 17E+13 | 1.944844
23 201 1.759502 73 1 63210565 | 1.941781 123 | 2.19E+13 | 1.945393
24 233 1.959016 74 1 82000525 | 1.931886 124 | 2.83E+13 | 1.94441
25 274 2.150065 75 1.0SE+08 | 1.944758 125 | 3.65E+13 | 1.943746
26 387 1.964713 76 | 1.35E+08 | 1.956058 126 | 4771E+13 | 1.944508
27 547 1.794035 77 175E+08 | 1.946363 127 | 6.08E+13 | 1.94524
28 667 1.898893 78 | 2.27E+08 | 1.934639 128 | 7.84E+13 | 1.944685
29 781 2.093068 79 1 2.92E408 | 1.941146 129 | 1.01E+14 | 1.943931
30 1048 2.013173 80 | 3.75E+08 | 1.95289 130 | 1.31E+14 | 1.944295
31 1481 1.838635 81 | 4.85E+08 | 1.949061 131 | 1.69E+14 | 1.945035
32 1881 1.8684 82 | 6.29E+08 | 1.937898 132 | 2.18E+14 | 1.94484
33 2229 2.034964 83 | 8.12E+08 | 1.939325 133 | 2.81E+14 | 1.944142
34 2877 2.034862 84 | 1.04E+09 | 1.949596 134 | 3.63E+14 | 1.944194
35 4010 1.88425 85 | 1.34E+09 | 1.950128 135 | 4.68E+14 | 1.944829
36 5243 1.859992 86 | L.74E+09 | 1.941002 136 | 6.04E+14 | 1.944894
37 6339 1.985538 87 | 2.25E+09 | 1.938926 137 | 7.8E+14 | 1.944336
38 7983 2.03489 88 | 2.9E+09 | 1.946717 138 | 1.01E+15 | 1.944179
39 10897 | 1.924014 89 | 3.73E+09 | 1.94998 139 | 1.3E+15 | 1.944651
40 14496 | 1.866703 90  4.83E+09  1.943542 140 | 1.68E+15 | 1.944876
41 17921 1.948808 91  6.25E+09  1.939506 141 | 2.16E+15 | 1.944492
42 22305 | 2.020865 92  8.05E+09  1.944536 142 | 2.79E+15 | 1.944223
43 29777 | 1.953739 93 | 1.O4E+10 | 1.949068 143 | 3.6E+15 | 1.944519
44 39889 | 1.882359 94 1.34E+10 | 1.945335 144 | 4.65E+15 | 1.944813
45 50338 | 1.925164 95 | 1.73E+10 | 1.940031 145 6E+15 | 1.944599
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46 62531 2.000214 06 | 2.23E+10 | 1.943128 146 | 7.75E+15 | 1.944298
47 81859 1.97203 97 | 2.88E+10 1.9478 147 1E+16 | 1.944437
48 109555 | 1.90176 08 | 3.72E+10 | 1.946376 148 | 1.29E+16 | 1.944731
49 140565 | 1.913017 99 | 481E+10 @ 1.941942 149 | 1.67E+16 | 1.944659
50 175400 | 1.978675 100 | 6.2E+10 1.94243 150 | 2.15E+16 | 1.944382
Tt - fﬂ%ﬁzﬁ‘zé%% PRk (E
(i/ 2 +5:{@ +§/ = _5:{@ +;)” N (1.465571)"
k= o - () =2

EEn | (G, | (BRER | Rk E | e

1 1 1.465571 1

2 1 1 2.147899 2

3 2 2 1.57395 3

4 4 2 1.153368 4

5 6 1.5 1.126895 6

6 9 1.5 1.10103 10

7 14 1.555556 1.037338 14

8 21 1.5 1.013529 21

9 31 1.47619 1.006238 32

10 46 1.483871 0.993829 47

11 68 1.478261 0.985297 68

12 100 1.470588 0.981936 101

13 147 1.47 0.978978 148

14 216 1.469388 0.976435 216

15 317 1.467593 0.97509 317

16 465 1.466877 0.974222 466

17 682 1.466667 0.973494 682

18 1000 1.466276 0.973027 1000

19 1466 1.466 0.972742 1467

20 2149 1.465894 0.972528 2150

21 3150 1.465798 0.972378 3150

22 4617 1.465714 0.972283 4618
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23 0767 1.46567 0.972217 0768
24 9918 1.465642 0.97217 9919
25 14536 1.465618 0.972139 14537
26 21304 1.465603 0.972118 21305
27 31223 1.465593 0.972104 31224
28 45760 1.465586 0.972094 45761
29 67065 1.465581 0.972087 67066
30 98289 1.465578 0.972082 98290
31 144050 1.465576 0.972079 144051
32 211116 1.465574 0.972077 211117
33 309406 1.465573 0.972076 309407
34 453457 1.465573 0.972075 453458
35 064574 1.465572 0.972074 064575
36 973981 1.465572 0.972073 973982
37 1427439 1.465572 0.972073 1427440
38 2092014 1.465572 0.972073 2092015
39 3065996 1.465571 0.972073 3065998
40 4493436 1.465571 0.972073 4493438
41 0585451 1.465571 0.972073 6585454
42 9651448 1.465571 0.972072 9651452
43 14144885 1.465571 0.972072 14144891
44 20730337 1.465571 0.972072 20730346
45 30381786 1.465571 0.972072 30381798
46 44526672 1.465571 0.972072 44526690
47 65257010 1.465571 0.972072 65257036
48 95638797 1.465571 0.972072 95638835
49 140165470 1.465571 0.972072 | 140165525
50 205422481 1.465571 0972072 | 205422562
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